5.39

5.29 A sheet of water of uniform thickness (4 = 0.01 m)
flows from the device shown in Fig. P5.39. The water enters
vertically through the inlet pipe and exits horizontally with a
speed that varies linearly from 0 to 10 m/s along the 0.2 m
length of the slit. Determine the y component of anchoring force
necessary to hold this device stationary.
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m FIGURE P5.%9

A contrl vilume that @nfains +the box porfion of the device
ond the woter in the lbex as shown n +he sketh above is used.

Ppplicabion of the y-duechion Component of the lirear momentum
gguhation yicids

. 0.2
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A= 50x E
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